
৩৬ তম             -      ম        

১। 

'   '                            ? 

(ক) 

ব+  +ধ+   

(খ) 

ব  +ধ   

(গ) 

ব+ +  

(ঘ) 

ব   +ধ   

     খ। ব  +ধ   

২। 

         ম        ম             ? 

(ক) 

    

(খ) 

    

(গ) 

     

(ঘ) 

    

     ঘ।     

৩। 

‘     ’                             ? 

(ক) 

ঞ+জ 
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(খ) 

ঞ+গ 

(গ) 

জ+ঞ 

(ঘ) 

গ+ঞ 

     গ। জ+ঞ 

৪। 

                 ত           ত     ? 

(ক) 

      

(খ) 

    দ 

(গ) 

  ব   

(ঘ) 

    

     ক।       

৫। 

        ম      দ       ? 

(ক) 

       

(খ) 

জ     

(গ) 

খ      

(ঘ) 

    ব  
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     ক।        

৬। 

                     দ? 

(ক) 

জ   

(খ) 

 গ  ক 

(গ) 

    

(ঘ) 

গ     য 

     ঘ। গ     য 

৭। 

                                -                ? 

(ক) 

ক   ণ 

(খ) 

 বণ 

(গ) 

   ণ 

(ঘ) 

 ব  ণ 

     খ।  বণ 

৮। 

“ ম     দ                 ” –        ত    ত                         - 

(ক) 

     ব দ  ক  ব       ক   

(খ) 
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     ব দ  ক  ব          ক           

(গ) 

     ব দ  ক  ক      ক      

(ঘ) 

     ব দ  ক  ক       ক      

     গ।      ব দ  ক  ক      ক      

৯। 

“Null and Void”-                  – 

(ক) 

ব     

(খ) 

    বদ  

(গ) 

       

(ঘ) 

     ক ষ 

     ক। ব     

১০। 

‘     ম    ’                             ত      ? 

(ক) 

   ক  +    ব 

(খ) 

     জ +    ব 

(গ) 

     জ +       

(ঘ) 

     জ +      গজ 

     গ।      জ +       
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১১। 

‘    ’-                দ       ? 

(ক) 

  ব +      

(খ) 

 ব  +      

(গ) 

 ব +      

(ঘ) 

  ব +      

     ঘ।   ব +      

১২। 

“      ম  দ           ” –       ‘    ’       দ? 

(ক) 

     

(খ) 

 ব  ষণ 

(গ) 

 ব   

(ঘ) 

 ব  ষ য 

     খ।  ব  ষণ 

১৩। 

           ম       - 

(ক) 

  কষ     

(খ) 

  ক  ষ 
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(গ) 

  ক  ষ 

(ঘ) 

  কষ     

     গ।   ক  ষ 

১৪। 

                      ম         ? 

(ক) 

ব      

(খ) 

      

(গ) 

  ব ক 

(ঘ) 

       

     ক। ব      

১৫। 

            ত             ? 

(ক) 

     

(খ) 

   ৪ 

(গ) 

     

(ঘ) 

  ২  

     খ।    ৪ 

১৬। 
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ম                 - 

(ক) 

    দ          জ ব  

(খ) 

          জ       য   

(গ) 

          

(ঘ) 

  ব     ব       

     খ।           জ       য   

১৭। 

          ম            ? 

(ক) 

 ব ব  ক      

(খ) 

  খ    

(গ) 

      ক    

(ঘ) 

 ব দ       

     ঘ।  ব দ       

১৮। 

ম                   ত        ম       -              ম? 

(ক) 

       দব 

(খ) 

 ক ষ ণ 

(গ) 
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  দ    

(ঘ) 

       দ   

     ক।        দব 

১৯। 

ম                  দত            ? 

(ক) 

          

(খ) 

  খ     ণ  ব  ক ণ 

(গ) 

     

(ঘ) 

কব  

     খ।   খ     ণ  ব  ক ণ 

২০। 

                ? 

(ক) 

 দব       ক ব য 

(খ) 

        ব   ক    ক   

(গ) 

ক ব    ক   

(ঘ) 

             

     গ। ক ব    ক   

২১। 

‘    দ    ’      - 
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(ক) 

গ বষণ       

(খ) 

ধ   বষ ক  ব  ধ 

(গ) 

  জ ব   

(ঘ) 

                   

     ঘ।                    

২২। 

ম                   ত             ত      ম ত          ? 

(ক) 

  ৫৬ 

(খ) 

  ৬  

(গ) 

  ৫২ 

(ঘ) 

  ৬২ 

     খ।   ৬  

২৩। 

‘ ত    ’                    ? 

(ক) 

      

(খ) 

 দ    ক জ  

(গ) 

  গ    ক   
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(ঘ) 

   ব  দ খ   

     ক।       

২৪। 

    -            ত        ত       ত ? 

(ক) 

 ব ব  দ       য 

(খ) 

          য 

(গ) 

            য 

(ঘ) 

ক বগ   

     ঘ। ক বগ   

২৫। 

‘      ত    দত      ’          ত - 

(ক) 

         ক   

(খ) 

 গ    ক         

(গ) 

       ব   

(ঘ) 

     দ     

     গ।        ব   

২৬। 

‘        ’        ম                         ত   ? 

(ক) 
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ব দ   

(খ) 

      ষণ 

(গ) 

      ক   

(ঘ) 

  ব দ    ক  

     খ।       ষণ 

২৭। 

       ম  মদ       দত          ম   ? 

(ক) 

 বক      ক  

(খ) 

 ব ধধ য        

(গ) 

ক ব   ক   

(ঘ) 

   ব      ক   ক  

     ঘ।    ব      ক   ক  

২৮। 

              ম      ত             ? 

(ক) 

        

(খ) 

দ       

(গ) 

          ক   

(ঘ) 
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 দ    ব দ   

     গ।           ক   

২৯। 

                   ম    ম                              - 

(ক) 

        

(খ) 

             

(গ) 

    দ        

(ঘ) 

গণ দব   

     ক।         

৩০। 

                দ              ‘         ’         ? 

(ক) 

   খ   - ব    

(খ) 

 ব    - ব   দ   

(গ) 

 ধ   দ -ক    দ   

(ঘ) 

    -  বণ য 

     ক।    খ   - ব    

৩১। 

                      ম        ? 

(ক) 
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(খ) 

ক     ক  

(গ) 

 ব       

(ঘ) 

       বদ  

     খ। ক     ক  

৩২। 

       ম      ম    দ  দ           ? 

(ক) 

 জ     

(খ) 

 ব           

(গ) 

ব       

(ঘ) 

       

     গ। ব       

৩৩। 

‘              ত   ম      ’ -                         ত      ? 

(ক) 

           

(খ) 

     

(গ) 

      

(ঘ) 

ব  ক  
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     ক।            

৩৪। 

‘  ম     দ            ’    ত             

(ক) 

              

(খ) 

        দ 

(গ) 

 ব    জ  

(ঘ) 

 ব  জ     ব  দ     

     ঘ।  ব  জ     ব  দ     

৩৫। 

        ও ত ও ম            ? 

(ক) 

        

(খ) 

   দ          

(গ) 

  জ   

(ঘ) 

ব    দ  

     গ।   জ   

৩৬। 

Professor Razzak was a scholar ____ repute.(Fill in the gap) 

(ক) 

In 

(খ) 

of 
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(গ) 

after 

(ঘ) 

by 

     খ। of 

৩৭। 

David Coperfield' is a/an ___ novel. 

(ক) 

Victorian 

(খ) 

Elizabethan 

(গ) 

Romantic 

(ঘ) 

Modern 

     ক। Victorian 

৩৮। 

‘Elegy written in a country churchyard’ is written by- 

(ক) 

William Wordsworth 

(খ) 

Thomas Gray 

(গ) 

John Keats 

(ঘ) 

W.B. Yeats 

     খ। Thomas Gray 

৩৯। 

John Smith is good ___ Mathematics. (Fill in the gap) 

(ক) 
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of 

(খ) 

in 

(গ) 

at 

(ঘ) 

after 

     গ। at 

৪০। 

Shakespeare's Measure for Measure is a successful--- 

(ক) 

comedy 

(খ) 

tragedy 

(গ) 

tragi-comedy 

(ঘ) 

melo drama 

     ক। comedy 

৪১। 

Teacher said, “The earth __ round the sun.” 

(ক) 

moved 

(খ) 

has moved 

(গ) 

will be moving 

(ঘ) 

moves 

     ঘ। moves 
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৪২। 

The romantic age in English literature began with the publication of ___. 

(ক) 

Preface to Shakespeare 

(খ) 

Preface to Ancient Mariners 

(গ) 

Preface to Dr. Johnson 

(ঘ) 

Preface to Lyrical Ballads 

     ঘ। Preface to Lyrical Ballads 

৪৩। 

In English grammar ______, deals with formation of sentences. 

(ক) 

Morphology 

(খ) 

Etymology 

(গ) 

Syntax 

(ঘ) 

Semantics 

     গ। Syntax 

৪৪। 

Which of the followings books is written by Thomas Hardy? 

(ক) 

Vanity Fair 

(খ) 

Pride and Prejudice 

(গ) 

The Return of the Native 
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(ঘ) 

Oliver Twist 

     গ। The Return of the Native 

৪৫। 

He insisted __ there. (Fill in the gap) 

(ক) 

is to go 

(খ) 

on my going 

(গ) 

over going 

(ঘ) 

to go 

     খ। on my going 

৪৬। 

The idiom ‘A-stitch is times saves nine’ - refers to the importance of- 

(ক) 

saving lives 

(খ) 

timely action 

(গ) 

saving time 

(ঘ) 

time tailoring 

     খ। timely action 

৪৭। 

'Frailty thy name is woman'___ is a famous dialogue from. 

(ক) 

W. Shakespeare 

(খ) 
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Christopher Marlow 

(গ) 

Johns Webstan 

(ঘ) 

T.S. Eliot 

     ক। W. Shakespeare 

৪৮। 

The poem ‘The Solitary Reaper’ is written by- 

(ক) 

W.B. Yeats 

(খ) 

W.H. Auden 

(গ) 

W. Wordsworth 

(ঘ) 

Ezra Pound 

     খ। W.H. Auden 

৪৯। 

‘The Merchant of Venice’ is a Shakespearean play about 

(ক) 

a Moor 

(খ) 

a Roman 

(গ) 

a Turk 

(ঘ) 

a Jew 

     ঘ। a Jew 

৫০। 

What would be the right antonym for ‘initiative’? 
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(ক) 

indolence 

(খ) 

Apathy 

(গ) 

enterprise 

(ঘ) 

activity 

     খ। Apathy 

৫১। 

The play ‘Candida’ is by- 

(ক) 

G. B. Shaw 

(খ) 

Shakespeare 

(গ) 

Arthur Miller 

(ঘ) 

James Joyce 

     ক। G. B. Shaw 

৫২। 

Which of the following writers belongs to the romantic period in English literature? 

(ক) 

A. Tennyson 

(খ) 

Alexander Pope 

(গ) 

John Dryden 

(ঘ) 

S.T. Coleridge 
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     ঘ। S.T. Coleridge 

৫৩। 

This could have worked if I ___ been more cautious 

(ক) 

might 

(খ) 

have 

(গ) 

had 

(ঘ) 

would 

     গ। had 

৫৪। 

The Climax of a plot is what happens- 

(ক) 

at the height 

(খ) 

in the beginning 

(গ) 

at the end 

(ঘ) 

in the confrontation 

     ক। at the height 

৫৫। 

London town is found a living being in the works of- 

(ক) 

Charles Dickens 

(খ) 

Thomas Hardy 

(গ) 
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W. Congreve 

(ঘ) 

D. H. Lawrence 

     ক। Charles Dickens 

৫৬। 

I have been living in Dhaka ____ 2000. 

(ক) 

till 

(খ) 

after 

(গ) 

from 

(ঘ) 

since 

     ঘ। since 

৫৭। 

Give the antonym of the word 'transitory'- 

(ক) 

temporary 

(খ) 

permanent 

(গ) 

transparent 

(ঘ) 

short-lived 

     খ। permanent 

৫৮। 

Verb of “Number” is- 

(ক) 

number 
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(খ) 

numbering 

(গ) 

enumerate 

(ঘ) 

numerical 

     গ। enumerate 

৫৯। 

'Child is the father of man' is taken from the poem of— 

(ক) 

W. Wordsworth 

(খ) 

S.T. Coleridge 

(গ) 

P.B. Shelley 

(ঘ) 

A.C. Swinburne 

     ক। W. Wordsworth 

৬০। 

Slow and steady ___ the race. (Fill in the gap) 

(ক) 

has won 

(খ) 

win 

(গ) 

wins 

(ঘ) 

won 

     গ। wins 

৬১। 
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“Man is a political animal” - who said this? 

(ক) 

Dante 

(খ) 

Socrates 

(গ) 

Plato 

(ঘ) 

Aristotle 

     ঘ। Aristotle 

৬২। 

Who is known as “the poet of nature” in English literature? 

(ক) 

John Milton 

(খ) 

Williams Words Worth 

(গ) 

Lord Tennyson 

(ঘ) 

John Keats 

     খ। Williams Words Worth 

৬৩। 

Identify the correct sentence? 

(ক) 

Yesterday, he has gone home 

(খ) 

Yesterday, he did gone home 

(গ) 

Yesterday, he went home 

(ঘ) 
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Yesterday, he had gone home 

     গ। Yesterday, he went home 

৬৪। 

'A Passage to India” is written by- 

(ক) 

E.M. Forster 

(খ) 

Rudyard Kipling 

(গ) 

Galls Worthy 

(ঘ) 

A. H. Auden 

     ক। E.M. Forster 

৬৫। 

'Gitanjali' of Rabindranath Tagore was translated by- 

(ক) 

Robert Frost 

(খ) 

W.B. Yeats 

(গ) 

John Keats 

(ঘ) 

Rudyard Kipling 

     খ। W.B. Yeats 

৬৬। 

“Venerate” Means– 

(ক) 

abuse 

(খ) 

respect 
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(গ) 

defame 

(ঘ) 

accuse 

     খ। respect 

৬৭। 

Credit tk 5000 ___ my account. 

(ক) 

in 

(খ) 

with 

(গ) 

against 

(ঘ) 

to 

     ঘ। to 

৬৮। 

‘To do away with’ means- 

(ক) 

to get rid of 

(খ) 

to repeat 

(গ) 

to start 

(ঘ) 

to drive off 

     ক। to get rid of 

৬৯। 

Who of the following writers was not a novelist? 

(ক) 
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Charles Dickens 

(খ) 

W.B. Yeats 

(গ) 

James Joyce 

(ঘ) 

Jane Austen 

     খ। W.B. Yeats 

৭০। 

Which one is a correct sentence? 

(ক) 

paper is made by wood 

(খ) 

paper is made of wood 

(গ) 

paper is made from wood 

(ঘ) 

paper is made on wood 

     গ। paper is made from wood 

৭১। 

          ত                ম      ত             ? 

(ক) 

   ব  

(খ) 

        

(গ) 

        

(ঘ) 

   ক 
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     ঘ।    ক 

৭২। 

                     দ    ম   ? 

(ক) 

         

(খ) 

        

(গ) 

 গ   

(ঘ) 

    ক  

     খ।         

৭৩। 

      ( দ  ও     )    ম                                      ত      ? 

(ক) 

   - - কব   

(খ) 

   গ        

(গ) 

 কব       

(ঘ) 

  জ ক- - কব   

     ক।    - - কব   

৭৪। 

               দ      ম         ? 

(ক) 

      জ  

(খ) 
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    জ     

(গ) 

   বদ         খ   

(ঘ) 

       খ   

     ঘ।        খ   

৭৫। 

       “         ম   ”     ম     - 

(ক) 

  ৬৫     ব দ 

(খ) 

  ৬      ব দ 

(গ) 

         ব দ 

(ঘ) 

  ৫৬     ব দ 

     গ।          ব দ 

৭৬। 

   দ                      ম     দ    ত   ? 

(ক) 

২           ৫২ 

(খ) 

৩  জ          ৫২ 

(গ) 

             ৫২ 

(ঘ) 

২  জ          ৬  

     খ। ৩  জ          ৫২ 
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৭৭। 

৬ দ   দ                

(ক) 

          

(খ) 

  ৬       

(গ) 

  ৬৫      

(ঘ) 

  ৬৬      

     ঘ।   ৬৬      

৭৮। 

       ১৯৭১       ৭ ম            ম                                         

    

(ক) 

       ‘ ’  দ    গ         

(খ) 

                  দ   গ        

(গ) 

  ব      ক          য গ        

(ঘ) 

      ব  দ       ক   ক    দ    গ         

     গ।   ব      ক          য গ        

৭৯। 

২৬ ম    ১৯৭১-        ত                        - 

(ক) 

            ধ    

(খ) 

 ব   /         ধ    

https://3hourbattle.com/sq/3390
https://3hourbattle.com/sq/3391
https://3hourbattle.com/sq/3391
https://3hourbattle.com/sq/3392


(গ) 

            ধ    

(ঘ) 

             ধ    

     ক।             ধ    

৮০। 

      দ           ম             - 

(ক) 

     ণ-   ষ      

(খ) 

   -          

(গ) 

 ষ  -  বণ      

(ঘ) 

  ঘ-     

     ক।      ণ-   ষ      

৮১। 

      -    ত  ত          দ                ম   ম         ? 

(ক) 

৬৬% 

(খ) 

৬২% 

(গ) 

৫ % 

(ঘ) 

৫ % 

     খ। ৬২% 

৮২। 
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MDG –      তম       ? 

(ক) 

HIV/AIDS        ক   

(খ) 

য          ক   

(গ) 

  ধ    দ     দ   ক   

(ঘ) 

 দ     ক        

     গ।   ধ    দ     দ   ক   

৮৩। 

ত                               ততম           ম    ম  দ          ? 

(ক) 

 ৫    

(খ) 

 ৪    

(গ) 

 ৩    

(ঘ) 

 ২    

     ক।  ৫    

৮৪। 

      দ      ত      দ            ? 

(ক) 

ব ক   ব  ষ   

(খ) 

    কক ষ 

(গ) 
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দ   ব    কক ষ 

(ঘ) 

এক কক ষ 

     ঘ। এক কক ষ 

৮৫। 

    ত   ত   ‘   ম  ’       দ                ম               ? 

(ক) 

৫    

(খ) 

 ৬২   

(গ) 

      

(ঘ) 

      

     গ।       

৮৬। 

      দ                        ? 

(ক) 

৩৪ -২৫  ৩ ’            

(খ) 

      ’  ২ -৪ ’ দ  ণ   ব      ঘ      

(গ) 

   -৩ ’ ৪  -  ’    ঘ      

(ঘ) 

২২ -৩ ’ ২  -৩৪’ দ  ণ        

     খ।       ’  ২ -৪ ’ দ  ণ   ব      ঘ      

৮৭। 

      দ      ম  দম ম         ত       ? 

https://3hourbattle.com/sq/3398
https://3hourbattle.com/sq/3399
https://3hourbattle.com/sq/3400


(ক) 

   ৪     

(খ) 

   ৩     

(গ) 

   ২     

(ঘ) 

         

     ক।    ৪     

৮৮। 

          ত          -        ম       ম? 

(ক) 

 খ    

(খ) 

     

(গ) 

       

(ঘ) 

  খ    

     খ।      

৮৯। 

      ‘          ’            ? 

(ক) 

    খ   

(খ) 

       খ   

(গ) 

      খ   

https://3hourbattle.com/sq/3401
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(ঘ) 

    ব ব 

     গ।       খ   

৯০। 

                          দ      ত         তম                     ত  দ ? 

(ক) 

       ৫৪ 

(খ) 

২২           ৫৩ 

(গ) 

 ৬           ৫৬ 

(ঘ) 

২            ৫২ 

     গ।  ৬           ৫৬ 

৯১। 

ম                 ত               দ  ও          ত           ত   ? 

(ক) 

২৫           

(খ) 

২৬           

(গ) 

 ৬             

(ঘ) 

 ৪             

     ঘ।  ৪             

৯২। 

      দ         ত  দ         ম           দ        ? 

(ক) 

https://3hourbattle.com/sq/3403
https://3hourbattle.com/sq/3404
https://3hourbattle.com/sq/3405


    

(খ) 

    

(গ) 

য    জ য 

(ঘ) 

  ব   জ       

     ঘ।   ব   জ       

৯৩। 

      দ                ত  ? 

(ক) 

     

(খ) 

২    

(গ) 

     

(ঘ) 

৬৪   

     গ।      

৯৪। 

‘    ’                     ত? 

(ক) 

      

(খ) 

      ব জ   

(গ) 

         

(ঘ) 

https://3hourbattle.com/sq/3406
https://3hourbattle.com/sq/3407


ব   ব  

     গ।          

৯৫। 

      দ      তম         ম   ? 

(ক) 

   দ ,   ব   

(খ) 

      ,        

(গ) 

      ,        ব বগঞ জ 

(ঘ) 

      ,   জ     

     খ।       ,        

৯৬। 

      দ      ত    ত     ত          ত   ? 

(ক) 

২৬           

(খ) 

   জ           ২ 

(গ) 

 ৬             

(ঘ) 

২             ২ 

     ক। ২৬           

৯৭। 

                     ত        ত   ত               ? 

(ক) 

    ৪   

https://3hourbattle.com/sq/3408
https://3hourbattle.com/sq/3409
https://3hourbattle.com/sq/3410


(খ) 

         

(গ) 

    ৬   

(ঘ) 

    ৫   

     ক।     ৪   

৯৮। 

ECNEC         ম            ত   ? 

(ক) 

   ক        

(খ) 

       

(গ) 

 ধ      

(ঘ) 

  ক   

     গ।  ধ      

৯৯। 

‘     ’            ত  ত? 

(ক) 

গ  

(খ) 

    

(গ) 

ধ   

(ঘ) 

ক   

https://3hourbattle.com/sq/3411
https://3hourbattle.com/sq/3412


     ঘ। ক   

১০০। 

 ত ম    ম         দ                         ? 

(ক) 

      বজ  

(খ) 

য     ধ  দ   ব    

(গ) 

 ব দ  ক         জ     

(ঘ) 

 বদ        দ  ব    

     খ। য     ধ  দ   ব    

১০১। 

                   ১৯৫০       “             ”    ত      ম    ম         

  ? 

(ক) 

 ক        ক  

(খ) 

           ক  

(গ) 

         ক  

(ঘ) 

            ক  

     ক।  ক        ক  

১০২। 

                           ? 

(ক) 

   ৩ 

(খ) 

https://3hourbattle.com/sq/3413
https://3hourbattle.com/sq/3414
https://3hourbattle.com/sq/3414
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(গ) 

  ৫৪ 

(ঘ) 

  ৬  

     ঘ।   ৬  

১০৩। 

       ত        International mother Earth day? 

(ক) 

   এ    

(খ) 

২  এ    

(গ) 

২২ এ    

(ঘ) 

২৪ এ    

     গ। ২২ এ    

১০৪। 

       -            14 points    ত     point      ত                     

         ? 

(ক) 

 ৪ 

(খ) 

 ৩ 

(গ) 

 ২ 

(ঘ) 

  

     ক।  ৪ 

https://3hourbattle.com/sq/3416
https://3hourbattle.com/sq/3417
https://3hourbattle.com/sq/3417


১০৫। 

১৭৮৩             ত                ত   ? 

(ক) 

৪ 

(খ) 

৩ 

(গ) 

২ 

(ঘ) 

৫ 

     ক। ৪ 

১০৬। 

       (Laos)          ম   ? 

(ক) 

Democratic Republic of Laos 

(খ) 

Kingdom of Laos 

(গ) 

Republic of Laos 

(ঘ) 

Laos People's Democratic Republic 

     ঘ। Laos People's Democratic Republic 

১০৭। 

                                    ম      ? 

(ক) 

     

(খ) 

    

(গ) 

https://3hourbattle.com/sq/3418
https://3hourbattle.com/sq/3419
https://3hourbattle.com/sq/3420


         

(ঘ) 

  গ       

     খ।     

১০৮। 

   ত          ম        (UNDP)       দ     ? 

(ক) 

      ব 

(খ) 

         ক 

(গ) 

    ক 

(ঘ) 

          

     গ।     ক 

১০৯। 

           ত    ম         Green Climate Fund       দ     দ              

   ম       ম           ? 

(ক) 

     ব          

(খ) 

    ব          

(গ) 

 ৫   ব          

(ঘ) 

২    ব          

     ক।      ব          

১১০। 

                     ABM (Anti-Ballistic Missile)                   ত         ? 

https://3hourbattle.com/sq/3421
https://3hourbattle.com/sq/3422
https://3hourbattle.com/sq/3422
https://3hourbattle.com/sq/3423


(ক) 

জ   ২    

(খ) 

জ   ২    

(গ) 

জ   ২  ২ 

(ঘ) 

জ   ২  ৩ 

     গ। জ   ২  ২ 

১১১। 

         ত      - 

(ক) 

  ৫  

(খ) 

  ৪  

(গ) 

  ৪  

(ঘ) 

  ৪৫ 

     ঘ।   ৪৫ 

১১২। 

“YALTA Conference”                - 

(ক) 

য          দ        ণ  দ   

(খ) 

জ     ঘ       

(গ) 

 জ        ণ           

https://3hourbattle.com/sq/3424
https://3hourbattle.com/sq/3425


(ঘ) 

 ব য     ক  ণ   ণ    

     খ। জ     ঘ       

১১৩। 

 ত ম    NAM     দ          ত- 

(ক) 

120 

(খ) 

 ৫ 

(গ) 

   

(ঘ) 

২  

     ক। 120 

১১৪। 

War and Peace              ত - 

(ক) 

         

(খ) 

        ক     

(গ) 

ক      ক   

(ঘ) 

 জ       

     ক।          

১১৫। 

      ত            দ  দ    

(ক) 

       

https://3hourbattle.com/sq/3426
https://3hourbattle.com/sq/3427
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(খ) 

 জ     

(গ) 

       

(ঘ) 

    

     খ।  জ     

১১৬। 

IAEA –    দ  দ        

(ক) 

 জ     

(খ) 

       

(গ) 

         

(ঘ) 

       

     খ।        

১১৭। 

       ত  ত     

(ক) 

   ৩ 

(খ) 

   ৪ 

(গ) 

   ২ 

(ঘ) 

   ৫ 

https://3hourbattle.com/sq/3429
https://3hourbattle.com/sq/3430


     ঘ।    ৫ 

১১৮। 

   ত               ত  ত   ? 

(ক) 

  ৪৫ 

(খ) 

  ৪  

(গ) 

  ৪  

(ঘ) 

  ৪  

     ক।   ৪৫ 

১১৯। 

                        ত? 

(ক) 

     

(খ) 

       

(গ) 

   ক 

(ঘ) 

     

     খ।        

১২০। 

ম দ    ত           দ             ? 

(ক) 

     

(খ) 

https://3hourbattle.com/sq/3431
https://3hourbattle.com/sq/3432
https://3hourbattle.com/sq/3433


   জ     

(গ) 

   ব     

(ঘ) 

            

     ঘ।             

১২১। 

      দ                  ত         ? 

(ক) 

          

(খ) 

          

(গ) 

২         

(ঘ) 

          

     ঘ।           

১২২। 

      দ             ত    ম     ত? 

(ক) 

৩     ক.    . 

(খ) 

৪ ৫৬  ক.   . 

(গ) 

৪৩    ক.   . 

(ঘ) 

৫ ৩   ক.   . 

     খ। ৪ ৫৬  ক.   . 

https://3hourbattle.com/sq/3434
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১২৩। 

 ম    ম    দ          ও       দ     ত? 

(ক) 

  .   ক.   . 

(খ) 

 ২.২  ক.    . 

(গ) 

  .২  ক.   . 

(ঘ) 

 ২.   ক.   . 

     ক।   .   ক.   . 

১২৪। 

                      ত   - 

(ক) 

 ক      ব  

(খ) 

GIS 

(গ) 

       ক 

(ঘ) 

  গ-    ক 

     ঘ।   গ-    ক 

১২৫। 

২০০৪                  ম          ত         - 

(ক) 

   -২    ক      

(খ) 

৩  -৪    ক      

(গ) 

https://3hourbattle.com/sq/3436
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   -     ক      

(ঘ) 

   -      ক      

     গ।    -     ক      

১২৬। 

                                  ত? 

(ক) 

  ক   

(খ) 

   দ     

(গ) 

     ণগ   

(ঘ) 

খ      

     খ।    দ     

১২৭। 

 ম      ৪৫cm           ২০৫০         দ       দ   Climate refugee    ? 

(ক) 

৩  ক    

(খ) 

৪  ক    

(গ) 

৪.৫  ক    

(ঘ) 

৩.৫  ক    

     ঘ। ৩.৫  ক    

১২৮। 

    ম      ম         ত  ত           ত    ? 

https://3hourbattle.com/sq/3439
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(ক) 

 ৪       

(খ) 

         

(গ) 

  .         

(ঘ) 

         

     গ।   .         

১২৯। 

                       ত             ত ম       ত         ম             

          ত  ত          দ     দ       ? 

(ক) 

৩ % 

(খ) 

৪ % 

(গ) 

৫ % 

(ঘ) 

৬ % 

     ক। ৩ % 

১৩০। 

দ                   তম    ২০১৫               ? 

(ক) 

   জ        

(খ) 

   জ        

(গ) 

  জ        

https://3hourbattle.com/sq/3442
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(ঘ) 

২        

     ক।    জ        

১৩১। 

    ম            - 

(ক) 

     গ            

(খ) 

          দ       ক    

(গ) 

        য     কষ  ণ 

(ঘ) 

ঘ ণ    

     খ।           দ       ক    

১৩২। 

                           ত  দ        - 

(ক) 

    ক   

(খ) 

     

(গ) 

     জ  ক 

(ঘ) 

জ ব    

     গ।      জ  ক 

১৩৩। 

     ম           দ                         ? 

(ক) 

https://3hourbattle.com/sq/3444
https://3hourbattle.com/sq/3445
https://3hourbattle.com/sq/3446


  ক    

(খ) 

    

(গ) 

     য 

(ঘ) 

    খ   ব ক   

     ঘ।     খ   ব ক   

১৩৪। 

               ম    ত     দ     ম           ? 

(ক) 

        জ 

(খ) 

       

(গ) 

     জ 

(ঘ) 

       

     ঘ।        

১৩৫। 

    ম     ত     ত           দ ম  ? 

(ক) 

  .  

(খ) 

 .৪  

(গ) 

 .  

(ঘ) 

https://3hourbattle.com/sq/3447
https://3hourbattle.com/sq/3448


 .৩ 

     গ।  .  

১৩৬। 

ম                ত                 ত     ? 

(ক) 

        

(খ) 

       

(গ) 

ব    

(ঘ) 

 দয   

     খ।        

১৩৭। 

                                দ        ত       ত       ? 

(ক) 

         

(খ) 

         

(গ) 

 বদ    ক     

(ঘ) 

    

     ক।          

১৩৮। 

ম         ত      ? 

(ক) 

          

https://3hourbattle.com/sq/3449
https://3hourbattle.com/sq/3450
https://3hourbattle.com/sq/3451


(খ) 

         

(গ) 

     ক      

(ঘ) 

         

     খ।          

১৩৯। 

          ত               ? 

(ক) 

জ    

(খ) 

এ    

(গ) 

           

(ঘ) 

   খ     

     গ।            

১৪০। 

        ত   ত    ও             দ        - 

(ক) 

 জ    ক 

(খ) 

          

(গ) 

জ   জ  

(ঘ) 

ব     জ  

https://3hourbattle.com/sq/3452
https://3hourbattle.com/sq/3453


     ক।  জ    ক 

১৪১। 

                                       ত       ? 

(ক) 

  এ  জ 

(খ) 

 ক    

(গ) 

       

(ঘ) 

   জ  

     ঘ।    জ  

১৪২। 

 ম                        ম   দ        ত   - 

(ক) 

       

(খ) 

    ক     

(গ) 

    ক     

(ঘ) 

         

     ঘ।          

১৪৩। 

       ত               ত             ? 

(ক) 

         

(খ) 

https://3hourbattle.com/sq/3454
https://3hourbattle.com/sq/3455
https://3hourbattle.com/sq/3456


 ব       

(গ) 

গ    (গ   )     

(ঘ) 

                 

     গ। গ    (গ   )     

১৪৪। 

             দ         দ      ? 

(ক) 

ক     

(খ) 

   দ 

(গ) 

    

(ঘ) 

  দ  

     গ।     

১৪৫। 

                    ত   ম                   - 

(ক) 

          

(খ) 

          

(গ) 

     ব   

(ঘ) 

       ক  দ     

     খ।           

https://3hourbattle.com/sq/3457
https://3hourbattle.com/sq/3458


১৪৬। 

            ম ম      Non-volatile? 

(ক) 

DRAM 

(খ) 

ROM 

(গ) 

SRAM 

(ঘ) 

       ব      

     খ। ROM 

১৪৭। 

             3G Language   ? - 

(ক) 

Machine Language 

(খ) 

Java 

(গ) 

C 

(ঘ) 

All of the above 

     ক। Machine Language 

১৪৮। 

                     ? 

(ক) 

   ক   ব    =      ব    

(খ) 

    গ ব    =   ২৪ ব    

(গ) 

https://3hourbattle.com/sq/3459
https://3hourbattle.com/sq/3460
https://3hourbattle.com/sq/3461


   ক   ব    =   ২৪ ব    

(ঘ) 

    গ ব    =      ব    

     গ।    ক   ব    =   ২৪ ব    

১৪৯। 

wi-fi             -                       ? 

(ক) 

IEEE 804.11 

(খ) 

IEEE 803.11 

(গ) 

IEEE 806.11 

(ঘ) 

IEEE 802.11 

     ঘ। IEEE 802.11 

১৫০। 

             ত       ত                             ? 

(ক) 

WAN 

(খ) 

TV        ক     

(গ) 

Satellite Communication 

(ঘ) 

MAN 

     খ। TV        ক     

১৫১। 

(1011)2 + (0101)2 =? 

(ক) 

https://3hourbattle.com/sq/3462
https://3hourbattle.com/sq/3463
https://3hourbattle.com/sq/3464


(1100)2 

(খ) 

(11000)2 

(গ) 

(01100)2 

(ঘ) 

 ক         

     ঘ।  ক         

১৫২। 

WiMAX             ? 

(ক) 

Worldwide Interoperability for Microwave Access 

(খ) 

Worldwide Internet for Microwave Access 

(গ) 

worldwide Interconnection for Microwave access 

(ঘ) 

 ক         

     ক। Worldwide Interoperability for Microwave Access 

১৫৩। 

Boolean Algebra-                     ? 

(ক) 

A + A = 2A 

(খ) 

A.A = 1 

(গ) 

A + Ā = 1 

(ঘ) 

       ক         

https://3hourbattle.com/sq/3465
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     গ। A + Ā = 1 

১৫৪। 

8086  ত       ম           - 

(ক) 

16 

(খ) 

8 

(গ) 

32 

(ঘ) 

       ক         

     ক। 16 

১৫৫। 

Mobile Phone-           input device-   ? 

(ক) 

Power Supply 

(খ) 

Touch Screen 

(গ) 

Keypad 

(ঘ) 

Camera 

     ক। Power Supply 

১৫৬। 

                     Language? 

(ক) 

C 

(খ) 

MS-Word 

https://3hourbattle.com/sq/3467
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(গ) 

Oracle 

(ঘ) 

 ক        

     গ। Oracle 

১৫৭। 

LinkedIn                    ? 

(ক) 

এ   এক    বজ                            ক          

(খ) 

এ   ২  ২             

(গ) 

২  ৬       এ     দ    খ   ২             ধক    

(ঘ) 

       ব      

     ঘ।        ব      

১৫৮। 

  ম             ম    ও                    ? 

(ক) 

এ         ক    ব  ক ব             ক জ ক   

(খ) 

 ব          ক           য   ক    ক  জ 

(গ) 

দ   ব        ধক     ধ           ক  ক   য   ক    ক  জ 

(ঘ) 

 ক        

     গ। দ   ব        ধক     ধ           ক  ক   য   ক    ক  জ 

১৫৯। 

                          ম     ম ম   ? 

https://3hourbattle.com/sq/3470
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(ক) 

RAM 

(খ) 

Hard Disk 

(গ) 

Pen drive 

(ঘ) 

 ক         

     ক। RAM 

১৬০। 

Plotter                  ? 

(ক) 

        

(খ) 

      

(গ) 

       

(ঘ) 

       ক         

     গ।        

১৬১। 

A = {x: x  ম               x≤5 }     P(A) 

(ক) 

3 

(খ) 

7 

(গ) 

6 

(ঘ) 

https://3hourbattle.com/sq/3473
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8 

     ঘ। 8 

১৬২। 

12             5     ত                            ২           দ          

     ? 

(ক) 

224 

(খ) 

120 

(গ) 

792 

(ঘ) 

252 

     খ। 120 

১৬৩। 

    ও                          ২০১৫             ম       ত                    

 ম   5  দ ।                         ও            ত? 

(ক) 

1 

(খ) 

5/7 

(গ) 

2/7 

(ঘ) 

1/7 

     গ। 2/7 

১৬৪। 

৩৫০      দ   ৩       ম        ৪                 দ    ম    ত       দ ত    ? 

(ক) 

৪২   ক  

https://3hourbattle.com/sq/3475
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(খ) 

 ২   ক  

(গ) 

 ৪   ক  

(ঘ) 

  ৫   ক  

     ক। ৪২   ক  

১৬৫। 

  দ  ত    ম    ২৫%          ত    ত            ত     ত  ম     ত     দ     

          

(ক) 

 ৬% 

(খ) 

২ % 

(গ) 

২৫% 

(ঘ) 

২৪% 

     খ। ২ % 

১৬৬। 

দ                ৩৩৮০          ১৩।       দ      ,  ,   ত? 

(ক) 

    

(খ) 

২৬  

(গ) 

 ৩  

(ঘ) 

৪   

https://3hourbattle.com/sq/3478
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     খ। ২৬  

১৬৭। 

1+3+5+ -------+ (2x-1)  ত? 

(ক) 

x(x-1) 

(খ) 

x(x+1)/2 

(গ) 

x(x+1) 

(ঘ) 

x2 

     ঘ। x2 

১৬৮। 

log√381  ত? 

(ক) 

8 

(খ) 

4 

(গ) 

27√3 

(ঘ) 

1/8 

     খ। 4 

১৬৯। 

  দ (25)2x+3 = 53x+6   , ত   x= ত? 

(ক) 

1 

(খ) 

0 
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(গ) 

-1 

(ঘ) 

4 

     খ। 0 

১৭০। 

            O                ΔABC        ত। <y= 112°     <x=  ত? 

 

(ক) 

68° 

(খ) 

34° 

(গ) 

45° 

(ঘ) 

39° 

     খ। 34° 

১৭১। 

                     দ    4√2    ,                   ত        ? 

(ক) 

24 

(খ) 

32 

(গ) 

8 

(ঘ) 
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16 

     ঘ। 16 

১৭২। 

ΔABC   <A=40° , <B=70°    , ABC               ? 

(ক) 

   ক ণ  

(খ) 

    ব   

(গ) 

   ক ণ  

(ঘ) 

  ব   

     খ।     ব   

১৭৩। 

x2 + y2 = 185, x-y= 3          ম         

(ক) 

(11,8) 

(খ) 

(2,7) 

(গ) 

(9,6) 

(ঘ) 

(7,4) 

     ক। (11,8) 

১৭৪। 

a- [a-{a-( a-(a-1))}] =  ত? 

(ক) 

1 

(খ) 
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-1 

(গ) 

a+1 

(ঘ) 

a-1 

     ঘ। a-1 

১৭৫। 

x-1/x = 1     x3-1/x
3    ম    ত? 

(ক) 

1 

(খ) 

2 

(গ) 

3 

(ঘ) 

4 

     ঘ। 4 

১৭৬। 

1+5+9+......+81=? 

(ক) 

961 

(খ) 

861 

(গ) 

761 

(ঘ) 

661 

     খ। 861 

১৭৭। 
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            (?)-               ?  

(ক) 

L10 

(খ) 

L15 

(গ) 

K15 

(ঘ) 

K8 

     ঘ। K8 

১৭৮। 

  দ, ৫ + ৩ = ২৮ 

৯ + ১ = ৮১০ 

২ + ১ = ১৩    ত  , 

৫ + ৪ = ? 

(ক) 

   

(খ) 

   

(গ) 

২  

(ঘ) 

২  

     খ।    

১৭৯। 

          ম                   ১৮ তম         ম দ   ১০ম           ? 

(ক) 
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H 

(খ) 

S 

(গ) 

F 

(ঘ) 

J 

     ক। H 

১৮০। 

√(১৫.৬০২৫)=? 

(ক) 

৩. ৫ 

(খ) 

৩. ৫ 

(গ) 

৩. ৫ 

(ঘ) 

৩.৬৫ 

     ক। ৩. ৫ 

১৮১। 

৩, ৭, ৪, ১৪, ৫, ২১, ৬         ম          ত    ? 

(ক) 

৬ 

(খ) 

২  

(গ) 

  

(ঘ) 

২  
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     খ। ২  

১৮২। 

দ     ম                    ত   দ    ? 

(ক) 

৪ 

(খ) 

২ 

(গ) 

  

(ঘ) 

  

     ঘ।   

১৮৩। 

       ' দ     '-           ত   ?  

(ক) 

 

(খ) 

 

(গ) 

 

(ঘ) 

 

     খ। 
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১৮৪। 

     ম         ত              ম  দ    ত ও       ত    ? 

 

(ক) 

৪  ক জ 

(খ) 

৬  ক জ 

(গ) 

   ক জ 

(ঘ) 

    ক জ 

     গ।    ক জ 

১৮৫। 

        ত   ত                               ত         ? 

(ক) 

NOON 

(খ) 

SOS 

(গ) 

OTTO 

(ঘ) 

OPT 

     গ। OTTO 

১৮৬। 

                 ? 

(ক) 

ক       

(খ) 
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ক   ক   

(গ) 

ক       

(ঘ) 

ক       

     ক। ক       

১৮৭। 

          ২     দ     দ      ,      ত         ত     তদ    দ       ? 

(ক) 

২     

(খ) 

৩     

(গ) 

৪     

(ঘ) 

৫     

     ক। ২     

১৮৮। 

২     ত  ত    ৮    ? 

(ক) 

২   

(খ) 

৪   

(গ) 

৩৪৫ 

(ঘ) 

৩   

     খ। ৪   

https://3hourbattle.com/sq/3500
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১৮৯। 

             (?)            ? 

৩,১০,৯,৮,২৭,৬,৮১,৪,২৪৩, (?) 

(ক) 

৪ 

(খ) 

২ 

(গ) 

 ৫ 

(ঘ) 

 ২ 

     খ। ২ 

১৯০। 

             (?)            ?  

(ক) 

36 

(খ) 

32 

(গ) 

31 

(ঘ) 

40 

     গ। 31 

১৯১। 

   ত             ম         - 

(ক) 

    ক     
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(খ) 

    ক  ব ধ 

(গ) 

    ক  দ    

(ঘ) 

 ব      

     গ।     ক  দ    

১৯২। 

Power: A New Social Analysis’              ? 

(ক) 

    ক       

(খ) 

 ব  

(গ) 

 ক 

(ঘ) 

      

     ঘ।       

১৯৩। 

‘      ম   ’      

(ক) 

এক   দ     ক   দ         

(খ) 

   ব   বধ     ক  জ   ধ     

(গ) 

দ             ধ ব       

(ঘ) 

গ     ক  ধ     
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     গ। দ             ধ ব       

১৯৪। 

   ত           (Code of ethics)    ত      - 

(ক) 

     ক      ব ধ         ধ  ণ ব   য    গ         গ      ক  ক         ক   

(খ) 

ব  ব         খ    দ       ণ     দ    ধ    ণ          ণ ব ধ 

(গ) 

 দ     ক য  ক           ক  ণ  ণ       ক         দ  ব     ণ ব ধ 

(ঘ) 

                ক 

     ঘ।                 ক 

১৯৫। 

     ত ম                - 

(ক) 

     জক      ব ধ ক 

(খ) 

  ধ           ব ধ ক 

(গ) 

ব   গ       ব ধ ক 

(ঘ) 

গণ    ক      ব ধ ক 

     খ।   ধ           ব ধ ক 

১৯৬। 

ম                 তম        - 

(ক) 

  জ    ক  ব      ধ ক   

(খ) 
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     জক  ব      ধ ক   

(গ) 

       ক  ব   ধ   ণ ক   

(ঘ) 

দ         ধ ক   

     খ।      জক  ব      ধ ক   

১৯৭। 

            ম                        ও      ত  ম   - 

(ক) 

       ক  গ         

(খ) 

    ক  গ         

(গ) 

        ক  গ         

(ঘ) 

 ক         

     ক।        ক  গ         

১৯৮। 

              ত     - 

(ক) 

       ক      

(খ) 

     জক      

(গ) 

       ক        জক      

(ঘ) 

 ব      

     গ।        ক        জক      
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১৯৯। 

                ম     ম            - 

(ক) 

  ধ     

(খ) 

     

(গ) 

ক  দ    

(ঘ) 

জ ক   ণ 

     ঘ। জ ক   ণ 

২০০। 

                  - 

(ক) 

           

(খ) 

 জ      

(গ) 

জব ব দ     

(ঘ) 

        ণ   

     খ।  জ      
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